#### Tennessee Educational Broadband Consortium Multiple Schedule/State Master Contract Order Form

This agreement ("Agreement") is entered into between City of Kingsport for its Kingsport City Schools ("Customer") and Personal Computer Systems, Inc ("Service Provider"), for E-Rate Category 2 purchases. For good and valuable consideration, including the mutual promises contained herein, Customer orders from the Service Provider the services identified below and/or in Attachment A to this Agreement ("Service"). Customer and Service Provider agree that the Service shall be provided pursuant to the rates, charges, terms, and conditions set forth in TEBC 68613 ("Master Contract").

Service Ordered by Customer:

#### IDENTIFY REQUESTED SERVICE(S) HEREIN AND/OR IN ATTACHMENT A

The selected Service period is **July 1, 2023 – June 30, 2024.** Unless otherwise agreed upon in writing, the Service period shall commence upon Service installation.

#### Requested Service Commencement Date(s): TBD

If this Agreement is cancelled or terminated prior to Service Installation, cancellation charges will apply as set forth in the Master Contract (if applicable).

Customer may seek Universal Service Fund funding pursuant to the rules and regulations associated with the E-Rate program. Agreement is contingent upon receiving E-Rate Funding. Customer may opt to proceed with purchase in the absence of E-Rate funding, but this Agreement may be voided if E-Rate funding is not received. This Agreement is contingent upon Kingsport City School Board of Education approval, Kingsport Board of Mayor and Alderman approval, and issuance of a Purchase Order.

Customer further warrants and represents that Customer is authorized to enter into this Agreement and to order Service pursuant to the Master Contract. There are no other terms and conditions allowed pursuant to this agreement other than those present in the underlying Master Contract. Customer further warrants and represents that this Agreement complies with all applicable procurement laws and/or requirements.

This Agreement is effective when executed by Customer. Submission of a quote at the request of the customer constitutes the Service Provider's its intent to proceed upon acceptance of the Customer. This Agreement is subject to and controlled by the provisions of the Master Contract, including any amendments as may be made from time to time.

# Customer Name: Accepted by: Personal Computer Systems, Inc Print Name: City of Kingsport for its Kingsport for its Kingsport City Schools By: Title: Date: Date: Date: Accepted by: Personal Computer Systems, Inc Print Name: Personal Computer Systems, Inc By: Print Name: Personal Computer Systems, Inc By: Print Name: Personal Computer Systems, Inc By: President Date: Date:

Updated: 12/14/2020

# ATTACHMENT A

Quantity

Name of Product or Service

PCS Quote # 215760

Updated: 12/14/2020



#### E-Rate 2023

Quote #215760 v1



Prepared For:

City of Kingsport Mayor Pat Shull 400 CLINCHFIELD ST KINGSPORT, TN 37660

P: 4232299412 E: PatShull@kingsporttn.gov Prepared by:

Headquarters
Cathy Young
1720 Topside Road
Louisville, TN 37777

P: 865.273.1960 E: cyoung@pcsknox.com Date Issued: 02.03.2023

Expires:

03.02.2023

#### DB & Johnson

Description		Price	Qty	Ext. Price
5520-24W	Extreme Networks 5520 24-port 90w PoE Switch - 24 Ports - Manageable - 3 Layer Supported - Modular - 2480 W Power Consumption - 90 W PoE Budget - Twisted Pair, Optical Fiber - PoE Ports - Rack-mountable	\$2,628.68	3	\$7,886.04
5520-VIM-4X	Extreme Networks 5520-VIM 4x10GE SFP+ Interface Module - For Switching Network, Optical NetworkOptical Fiber10 Gigabit Ethernet - 10GBase-X - 4 x Expansion Slots - SFP+	\$623.61	3	\$1,870.83
XN-ACPWR-715W- FB	Extreme Networks 715W Power Supply - 715 W	\$524.88	3	\$1,574.64
10099	Unirise ClearFit Cat.6 UTP Patch Network Cable - 2 ft Category 6 Network Cable for Network Device - First End: 1 x RJ-45 Network - Male - Second End: 1 x RJ-45 Network - Male - Patch Cable - Gold Plated Contact - Red	\$11.71	3	\$35.13
Service - Fixed Fee PS	Service - Fixed Fee PS Installation and Configuration of Switch Fixed fee labor for professional services or project work.	\$150.00	3	\$450.00
.10052	Network Optics for new LAN fiber	\$78.57	62	\$4,871.34
AP410C-FCC	Extreme Networks ExtremeWireless AP410C Dual Band 802.11ax 7.20 Gbit/s Wireless Access Point - Indoor - 2.40 GHz, 5 GHz - Internal - MIMO Technology - 2 x Network (RJ-45) - Gigabit Ethernet, 2.5 Gigabit Ethernet - Bluetooth 5 - 18.74 W - Wall Mountable, C	\$428.88	56	\$24,017.28
XCIQ-PT0-C-EW- 3YR-K12	EXTREMECLOUD IQ PILOT TIER 0 CLOUD RTU LICENSE AND EW TAC 3YR (US K-12)	\$244.52	56	\$13,693.12
Service - Fixed Fee PS	Installation and Configuration of Switch	\$40.00	56	\$2,240.00
1011-00-WH	Right angle AP Mount	\$95.56	34	\$3,249.04
			Subtotal:	\$59,887.42

#### Abraham Lincoln Elementary

Description		Price	Qty	Ext. Price
LABOR-WIRING	Fiberoptic Cabling	\$2.25	700	\$1,575.00
LABOR-WIRING	Installation of Cabling and Components	\$6,756.62	1	\$6,756.62
			Subtotal:	\$8,331.62

Quote #215760 v1 Page: 1 of 6



## Andrew Jackson Elementary

Description		Price	Qty	Ext. Price
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	2	\$2,016.00
Service - Fixed Fee PS	Installation of UPS	\$100.00	2	\$200.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	300	\$675.00
LABOR-WIRING	Installation of Cabling and Components	\$2,885.44	1	\$2,885.44
SRWO8UBRKT	Tripp Lite 8U Wall-Mount Bracket for Small Switches & Patch Panels Hinged - 40 lb Load Capacity - Black	\$101.16	2	\$202.32
SR42UBSD1032	Tripp Lite 42U Rack Enclosure Cabinet 32" Depth Threaded 10-32 Mount Holes - 42U Rack Height x 19" Rack Width - Black - 2250 lb Dynamic/Rolling Weight Capacity - 3000 lb Static/Stationary Weight Capacity	\$1,413.24	1	\$1,413.24
SRCAGENUTS	Tripp Lite Rack Enclosure Cabinet Square Hole Hardware Kit Screws Washers - 50 Each	\$28.01	1	\$28.01
SRSHELF2P	Tripp Lite Rack Enclosure Cabinet Cantilever Fixed Shelf 60lb Capacity 2URM - For Monitor - 2U Rack Height - 4 Post - Black - Cold-rolled Steel (CRS) - 59.97 lb Maximum Weight Capacity	\$60.06	1	\$60.06
PDU1220	Tripp Lite PDU Single Phase Basic Horizontal 120V 2.4kw 13 5-15/20R 20A 1U - 13 x NEMA 5-20R - 20 - 1U 19" Rack-mountable, Zero U	\$147.98	2	\$295.96
LABOR-WIRING	Patch Panels N062-048-KJ	\$462.67	5	\$2,313.35
LABOR-WIRING	Keystone Jacks	\$212.72	10	\$2,127.20
LABOR-WIRING	Cat6 Cable	\$250.67	15	\$3,760.05
LABOR-WIRING	1' Cat6 Snagless Cable Blue	\$2.13	232	\$494.16
LABOR-WIRING	Installation of Cabling and Components	\$6,875.00	1	\$6,875.00
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	2	\$3,148.04
LABOR-WIRING	Cat6 Cable	\$250.67	3	\$752.01
LABOR-WIRING	Installation of Cabling and Components	\$2,750.00	1	\$2,750.00
			Subtotal:	\$29,995.84

## Andrew Johnson Elementary

Description		Price	Qty	Ext. Price
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	2	\$3,148.04
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	2	\$2,016.00

Quote #215760 v1 Page: 2 of 6



# Andrew Johnson Elementary

Description		Price	Qty	Ext. Price
SMART1000RM1U N	Tripp Lite UPS Smart 1000VA 800W Rackmount AVR 120V Preinstalled WEBCARDLX Pure Sine Wave USB DB9 SNMP 1URM - 1000 VA/800 W - 120 V AC - 4 Minute Stand-by Time - 1U Rack-mountable - 6 x NEMA 5-15R	\$1,142.35	1	\$1,142.35
Service - Fixed Fee PS	Installation of UPS	\$100.00	5	\$500.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	500	\$1,125.00
LABOR-WIRING	Installation of Cabling and Components	\$7,590.24	1	\$7,590.24
			Subtotal:	\$15,521.63

## Dobyns-Bennett High

Description		Price	Qty	Ext. Price
LABOR-WIRING	Cat6 Cable	\$250.67	3	\$752.01
LABOR-WIRING	Installation of Cabling and Components	\$3,135.00	1	\$3,135.00
SRWF4U36	Tripp Lite 4U Wall Mount Rack Enclosure Server Cabinet Low Profile 36" Deep - For Patch Panel, Server - 4U Rack Height x 19" Rack Width - Wall Mountable - Black - Steel - 150 lb Maximum Weight Capacity - 149.91 lb Static/Stationary Weight Capacity	\$458.49	1	\$458.49
PDU1220	Tripp Lite PDU Single Phase Basic Horizontal 120V 2.4kw 13 5-15/20R 20A 1U - 13 x NEMA 5-20R - 20 - 1U 19" Rack-mountable, Zero U	\$147.98	1	\$147.98
LABOR-WIRING	Patch Panels N062-024-KJ-SH	\$234.87	1	\$234.87
LABOR-WIRING	1' Cat6 Snagless Cable Blue	\$2.13	24	\$51.12
LABOR-WIRING	Keystone Jacks	\$212.72	1	\$212.72
LABOR-WIRING	Installation of Rack and Components	\$807.40	1	\$807.40
SMART1000RM1U N	Tripp Lite UPS Smart 1000VA 800W Rackmount AVR 120V Preinstalled WEBCARDLX Pure Sine Wave USB DB9 SNMP 1URM - 1000 VA/800 W - 120 V AC - 4 Minute Stand-by Time - 1U Rack-mountable - 6 x NEMA 5-15R	\$1,142.35	1	\$1,142.35
SRWF6U36	Tripp Lite 6U Wall Mount Rack Enclosure Server Cabinet Vertical 36" Deep - 36" Deep Wall Mountable for Server, UPS, Battery Pack, LAN Switch - Black - Steel - 149.91 lb x Maximum Weight Capacity - 149.91 lb x Static/Stationary Weight Capacity	\$483.98	1	\$483.98
PDU1220	Tripp Lite PDU Single Phase Basic Horizontal 120V 2.4kw 13 5-15/20R 20A 1U - 13 x NEMA 5-20R - 20 - 1U 19" Rack-mountable, Zero U	\$147.98	1	\$147.98
LABOR-WIRING	Patch Panels N062-024-KJ-SH	\$234.87	1	\$234.87
LABOR-WIRING	1' Cat6 Snagless Cable Blue	\$2.13	24	\$51.12
LABOR-WIRING	Keystone Jacks	\$212.72	1	\$212.72
LABOR-WIRING	Installation of Rack and Components	\$807.40	1	\$807.40
SMART1000RM1U N	Tripp Lite UPS Smart 1000VA 800W Rackmount AVR 120V Preinstalled WEBCARDLX Pure Sine Wave USB DB9 SNMP 1URM - 1000 VA/800 W - 120 V AC - 4 Minute Stand-by Time - 1U Rack-mountable - 6 x NEMA 5-15R	\$1,142.35	1	\$1,142.35

Quote #215760 v1 Page: 3 of 6



# Dobyns-Bennett High

Description		Price	Qty	Ext. Price
LABOR-WIRING	Fiberoptic Cabling	\$2.25	1200	\$2,700.00
LABOR-WIRING	Installation of Cabling and Components	\$2,990.49	1	\$2,990.49
			Subtotal:	\$15,712.85

# George Washington Elementary

Description		Price	Qty	Ext. Price
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	1	\$1,008.00
Service - Fixed Fee PS	Installation of UPS	\$100.00	1	\$100.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	1000	\$2,250.00
LABOR-WIRING	Installation of Cabling and Components	\$6,398.43	1	\$6,398.43
SR42UBSD1032	Tripp Lite 42U Rack Enclosure Cabinet 32" Depth Threaded 10-32 Mount Holes - 42U Rack Height x 19" Rack Width - Black - 2250 lb Dynamic/Rolling Weight Capacity - 3000 lb Static/Stationary Weight Capacity	\$1,413.24	3	\$4,239.72
SRCAGENUTS	Tripp Lite Rack Enclosure Cabinet Square Hole Hardware Kit Screws Washers - 50 Each	\$28.01	3	\$84.03
SRSHELF2P	Tripp Lite Rack Enclosure Cabinet Cantilever Fixed Shelf 60lb Capacity 2URM - For Monitor - 2U Rack Height - 4 Post - Black - Cold-rolled Steel (CRS) - 59.97 lb Maximum Weight Capacity	\$60.06	3	\$180.18
PDU1220	Tripp Lite PDU Single Phase Basic Horizontal 120V 2.4kw 13 5-15/20R 20A 1U - 13 x NEMA 5-20R - 20 - 1U 19" Rack-mountable, Zero U	\$147.98	3	\$443.94
LABOR-WIRING	Installation of Rack and Components	\$1,540.00	3	\$4,620.00
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	3	\$4,722.06
			Subtotal:	\$24,046.36

## John F Kennedy Elementary

Description		Price	Qty	Ext. Price
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	2	\$2,016.00
Service - Fixed Fee PS	Installation of UPS	\$100.00	2	\$200.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	500	\$1,125.00
LABOR-WIRING	Installation of Cabling and Components	\$5,380.93	1	\$5,380.93

Quote #215760 v1 Page: 4 of 6



# John F Kennedy Elementary

Description		Price	Qty	Ext. Price
SRWF12U38	Tripp Lite 12U Wallmount Low Profile Vertical Rack Enclosure Server Cabinet - 19" 12U Wide x 35" Deep Wall Mountable for Server, LAN Switch, Patch Panel, UPS, Battery Pack - Black Powder Coat - Steel - 400 lb x Maximum Weight Capacity	\$570.88	2	\$1,141.76
LABOR-WIRING	Installation of Rack and Components	\$804.40	1	\$804.40
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	2	\$3,148.04
Service - Fixed Fee PS	Installation of UPS	\$75.00	1	\$75.00
		5	Subtotal:	\$13,891.13

#### John Sevier Middle

Description	CAMPAGE AND ADDRESS OF THE PROPERTY OF THE PRO	Price	Qty	Ext. Price
LABOR-WIRING	Cat6 Cable	\$250.67	5	\$1,253.35
LABOR-WIRING	Installation of Cabling and Components	\$2,574.00	1	\$2,574.00
LABOR-WIRING	Wire Cages	\$110.25	10	\$1,102.50
			Subtotal:	\$4,929.85

#### Ross Robinson Middle

Description		Price	Qty	Ext. Price
LABOR-WIRING	Cat6 Cable	\$250.67	5	\$1,253.35
LABOR-WIRING	Installation of Cabling and Components	\$4,334.00	1	\$4,334.00
LABOR-WIRING	Wire Cages	\$110.25	4	\$441.00
			Subtotal:	\$6,028.35

#### Theodore Roosevelt Elementary

Description		Price	Qty	Ext. Price
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	2	\$3,148.04
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	2	\$2,016.00
Service - Fixed Fee PS	Installation of UPS	\$100.00	4	\$400.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	600	\$1,350.00
LABOR-WIRING	Installation of Cabling and Components	\$5,380.93	1	\$5,380.93
		Bridge Control	Subtotal:	\$12,294.97

Quote #215760 v1 Page: 5 of 6



## Thomas Jefferson Elementary

Description	The state of the s	Price	Qty	Ext. Price
SMART2200RM2U N	Tripp Lite UPS Smart 2200VA 1920W Rackmount AVR 100V/110V/120V Preinstalled WEBCARDLX Pure Sign Wave USB DB9 2U - 2200 VA/1920 W - 120 V AC - 4.50 Minute - 2U Rack-mountable - 4.50 Minute - 4 x NEMA 5-15R, 4 x NEMA 5-15/20R	\$1,574.02	1	\$1,574.02
SMART2200SLT	Tripp Lite UPS Smart 2200VA 1600W Tower AVR 120V Pure Sign Wave USB DB9 SNMP for Servers - 2200VA/1600W - 6 Minute Full Load - 6 x NEMA 5-15/20R, 1 x NEMA L5-20R"	\$1,008.00	1	\$1,008.00
Service - Fixed Fee PS	Installation of UPS	\$100.00	2	\$200.00
LABOR-WIRING	Fiberoptic Cabling	\$2.25	1100	\$2,475.00
LABOR-WIRING	Installation of Cabling and Components	\$7,876.42	1	\$7,876.42
			Subtotal:	\$13,133.44

Quote Summary		Amount
DB & Johnson		\$59,887.42
Abraham Lincoln Elementary		\$8,331.62
Andrew Jackson Elementary		\$29,995.84
Andrew Johnson Elementary		\$15,521.63
Dobyns-Bennett High		\$15,712.85
George Washington Elementary		\$24,046.36
John F Kennedy Elementary		\$13,891.13
John Sevier Middle		\$4,929.85
Ross Robinson Middle		\$6,028.35
Theodore Roosevelt Elementary		\$12,294.97
Thomas Jefferson Elementary		\$13,133.44
	Total:	\$203,773.46

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Acceptance		
Headquarters	City of Kingsport	
Cyong		
	Mayor Pat Shull	
Cathy Young	Mayor Pat Shull Signature / Name	Initials
Cathy Young Signature / Name 02/03/2023		Initials